ALBRECE

GERMANY

¥

, , 0 1- 6 mm.
Peripheral or internal cooling.”
Significantly better dampening
/?ﬁomparison to Shrink Chucks.
im shape D1=13,5 mm.

0 <

Special coated collets.
Maintenance-free.

The Albrecht Micro.
1 None is more fine.




Micro-Precision-Chuck, DIN ISO 12164 (DIN 69893)

Easy exchange of tools by setting of hex-key (see page 55). Maintenance free. Sealed
against coolant and contamination. Slow collet taper angle. Collet with special coating (see
page 54). System-Runout-Accuracy 3 pm at 2,5 x D. Clamping of tool shanks according to
DIN 1835 A, Band DIN 6535 HB, HA as well as HE up to D = 6 mm.

D2

HSK 50-A

A Part.No. Form L1 L2 L4 D1 D2 Balanced kg
75 3101006 6401 A 20 35 55 13,5 16 <lgmm 0,3
HSK 50-A

85 3101006 6501 A 20 34 59 13,5 16 <lgmm 0,5
120 3102006 6501 A 20 45 94 13,5 18 <lgmm 0,7
HSK 63-A

90 3101006 6631 A 20 30 64 13,5 15 20.000 G=2,5 0,8
120 3102006 6631 A 20 45 94 13,5 17 20.000 G=2,5 1,0
160 3103006 6631 A 20 70 134 135 22 20.000 G=2,5 1,2
HSK 40-E

75 310 10E6 6401 E 20 35 55 13,5 16 <Igmm 0,3
HSK 50-E

85 310 10E6 6501 E 20 40 59 135 17 <lgmm 0,5
120 310 20E6 6501 E 20 45 94 13,5 18 <lgmm 0,7
Micro-Precision-Chuck, DIN ISO 7388-1 (DIN 69871)

Easy exchange of tools by setting of hex-key (see page 55).bMaintenance free. Sealed against

coolant and contamination. Slow collet taper angle. Collet with special coating (see page 54).
System-Runout-Accuracy 3 pm at 2,5 x D. Clamping of tool shanks according to

DIN 1835 A, Band DIN 6535 HB, HA as well as HE up to D = 6 mm.

SK 30

A Part.No. Form L1 L2 L4 D1 D2 Balanced kg
75 31020062301 A/AD 20 32 56 13,5 16 <lgmm 0,5
SK 40

90 3101006 2401 A/AD 20 38 71 13,5 17 20.000 G=2,5 1,0
120 31020062401 A/AD 20 60 101 135 21 20.000 G=2,5 1,2
160 31030062401 A/AD 20 75 141 135 23 20.000 G=2,5 1,2
3

Micro-Precision-Chuck, DIN ISO 7388-2 (JIS B 6339)

Easy exchange of tools by setting of hex-key (see page 55).Maintenance free. Sealed against
coolant and contamination. Slow collet taper angle. Collet with special coating (see page 54).
System-Runout-Accuracy 3 pm at 2,5 x D. Clamping of tool shanks according to

DIN 1835 A, Band DIN 6535 HB, HA as well as HE up to D = 6 mm.

L1

@@@\

BT 30

A Part.No. Foom L1 L2 L4 D1 D2 Balanced kg
75 3102006 4301 A/AD 20 30 53 13,5 15 <lgmm 0,5
BT 40

90 3101006 4401 A/AD 20 30 63 13,5 15 20.000 G=2,5 1,2
120 3102006 4401 A/AD 20 50 93 13,5 19 20.000 G=2,5 1,3
160 3103006 4401 A/AD 20 70 133 135 22 20.000 G=2,5 1,3
Micro-Precision-Chuck, DIN ISO 26623-1

Easy exchange of tools by setting of hex-key (see page 55). Maintenance free. Sealed against

coolant and contamination. Slow collet taper angle. Collet with special coating (see page 54).
System-Runout-Accuracy 3 pm at 2,5 x D. Clamping of tool shanks according to

DIN 1835 A, Band DIN 6535 HB, HA as well as HE up to D = 6 mm.

PSC 40

A Part.No. Form L1 L2 L4 D1 D2 Balanced kg
75 3101006 9C4 1 A 20 35 55 13,5 16 <lgmm 0,3
PSC 63

90 310 1006 9C6 1 A 20 30 68 13,5 15 20.000 G=2,5 1,0
120 3102006 9C6 1 A 20 50 98 13,5 19 20.000 G=2,5 11




icro-E
hucks

huck, for Collet-Chucks aceording to DIN ISO 15488

Micro-ER-Chuck, for Collet-Chucks according to DIN ISO 15488

Easy exchange of tools by setting of hex-key (see page 55). Maintenance free. Sealed against
coolant and contamination. Slow collet taper angle. Collet with special coating (see page 54).
System-Runout-Accuracy 3 pm at 2,5 x D. Clamping of tool shanks according to

DIN 1835 A, Band DIN 6535 HB, HA as well as HE up to D = 6 mm.

ER 20 1-6mm
A Part.No. Coolant L1 D1 Balanced kg
28 31010063201 Central 28 13,5 by design 0,1
35 31020063201 Central 35 13,5 by design 0,1
ER 25

25 31010063251 Central 12 13,5 by design 0,1
40 31020063251 Central 15 13,5 by design 0,1
50 31030063251 Central 20 13,5 by design 0,1
ER 32

25 31010063321 Central 12 13,5 by design 0,2
40 31020063321 Central 15 13,5 by design 0,2
50 31030063321 Central 20 13,5 by design 0,2




52

Easy exchange of tools by setting of hex-key (scope of delivery). Maintenance free.

Sealed against coolant and contamination. Slow collet taper angle. Collet with special

coating (see page 55). Clamping of tool shanks according to DIN 1835 A, B and
DIN 6535 HB, HA as well as HE up to D = 6 mm.

L2

Cylindrical shank 14 mm

L1 Part.No. Coolant L2 D1 D2 AF kg
100 3101006 814 1 Central 29 13 14 13 0,16
150 3102006 8141 Central 29 13 14 13 0,10
Cylindrical shank 20 mm

L1 Part.No. Coolant L2 D1 D2 AF kg
100 3101006 8201 Central 45 13 20 13 0,17
150 3102006 8201 Central 67 13 20 19 0,30

D2

AP

__AF



54

Collet with peripheral cooling.
Additional cooling and rinsing effekt. Increases the safety of processing.

D Part.No. Coolant kg
1,0 136 0601 0000 Periphery 0,02
2,0 136 0602 000 O Periphery 0,02
3,0 136 0603 000 0 Periphery 0,02
4,0 136 0604 000 O Periphery 0,02
5,0 136 0605 000 0 Periphery 0,02
6,0 136 0606 000 0 Periphery 0,02
Collet for tools with internal coolant.

100% leak proof up to 100 bar coolant pressure.

D Part.No. Coolant kg
1,0 136 0601 000 T Central 0,02
2,0 136 0602 000 T Central 0,02
3,0 136 0603 000 T Central 0,02
4,0 136 0604 000 T Central 0,02
5,0 136 0605000 T Central 0,02
6,0 136 0606 000 T Central 0,02
* Special size and inch diameter on request

Torque Key

3,0-5,4 Nm 139 0005900 O

Pull Stud Part.No. Thread through-hole  Angle kg
SK30 138 00042300 M12 Q4 15° 0,03
BT30 1380004 4300  M12 @4 45° 0,04
BT40 13800044400  M16 @4 45° 0,04

10



Balancing Screws- Set, incl. case, key, difference-table and 180 pieces of
fine-balancing-screws

Universal use, fits in all brands. 9 different screws in fine graduation. 20 screws each size,
including Torx key. Different colours for visual idendification. Precise balancing together with
the clamped tool. Easy handling with Torx. Supplied with Torx ISR15 screwdriver. No need
for screw locking. The balancing machine gives position and weight. Multiple use.

Typ Part.No.
M6x4,0-8,0 139 4006 000 O

Coolant tubes

Balancing Screws

Typ Part.No. Amount Colour
M6x4,0 139 4006 040 0 20 black
M6x4,5 139 4006 045 0 20 silver
M6x5,0 139 4006 050 0 20 red
M6x5,2 139 4006 052 0 20 yellow
M6x6,0 139 4006 060 0 20 black
M6x6,5 139 4006 065 0 20 silver
M6x7,0 139 4006 070 0 20 red
M6x7,2 139 4006 072 0 20 yellow
M6x8,0 139 4006 080 0 20 black

11

DIN 69893 (HSK) Part. No

Coolant tube HSK-A50 139 0002 650 0
Coolant tube HSK-A63 139 0002 663 0
Coolant tube HSK-A80 139 0002 680 0
Coolant tube HSK-A100 139 0002 610 0
Key with T-handle Part. No

for Coolant tube HSK-A50 139 0020 6500
for Coolant tube HSK-A63 139 0020 663 0
fiir for Coolant tube HSK-A80 139 0020 680 0
for Coolant tuber HSK-A100 139 0020 610 0

12



Mountingsystem

flexible, vertical/horizontal, locked

13

Mouting System- Base Unit Part.No.
7301000 000 O

Adaptor Part.No.

IS0 7388-1 + IS07388-2

SK30 + BT30 73010002300

SK40 + BT40 73010002400

SK50 + BT50 73010002500

DIN 69893

HSK50 7301000 650 0

HSK63 7301000 6630

HSK80 73010006800

HSK100 73010006100

IS0 26623-1

PSC50 7301000 9C5 0

PSC63 7301000 9C6 0

PSC80 7301000 9C8 0O

14



